
ǀŝ

3(0$1)$$7$1�$%62537,21�5()5,*(5$725 6(%$*$,�
680%(5�',1*,1�$,5�+$1'/,1*�81,7��$+8� 8178.�

3(1',1*,1�58$1*$1�

'$1$5$�+$1'$-$

$%675$.

3HQGLQJLQ� XGDUD� PHUXSDNDQ� DODW� \DQJ� EHUIXQJVL� XQWXN� PHQJNRQGLVLNDQ�
XGDUD�� 3HQJNRQGLVLDQ� XGDUD� EHUWXMXDQ� XQWXN� PHQGDSDWNDQ� WHPSHUDWXU� \DQJ�
RSWLPDO�� 6LVWHP�\DQJ�PHOLSXWL� SHQJNRQGLVLDQ� XGDUD� GLVHEXW� KHDWLQJ�� YHQWLODWLQJ��
DQG�DLU�FRQGLWLRQLQJ� �+9$&��GDQ�DODW�SHQJNRQGLVLDQ�XGDUD�GLVHEXW DLU�KDQGOLQJ�
XQLW �$+8�� $& GDQ� FKLOOHU� � PHUXSDNDQ� DODW� SHQJNRQGLVLDQ� XGDUD�� \DQJ�
PHQJJXQDNDQ� WHNQLN�UHIULJHUDVL��5HIULJHUDVL�DGDODK�SURVHV�SHQXUXQDQ�WHPSHUDWXU�
UXDQJ�DWDX�PDWHULDO�DJDU�WHWDS�GLEDZDK�WHPSHUDWXU�OLQJNXQJDQ� 5HIULJHUDWRU DWDX�
OHPDUL� SHQGLQJLQ� MXJD� PHQJJXQDNDQ� WHNQLN� UHIULJHUDVL�� $EVRUSWLRQ� UHIULJHUDWRU
PHUXSDNDQ� SHUNHPEDQJDQ� GDUL� WHNQLN� UHIULJHUDVL� \DQJ� PHQJJXQDNDQ� WHNQLN�
UHIULJHUDVL�DEVRUSVL�XQWXN�PHQJKDVLONDQ�GLQJLQ��3HQGLQJLQ�UXDQJDQ�PHQJJXQDNDQ�
DEVRUSWLRQ�UHIULJHUDWRU PHPEXDW�DGDQ\D DOWHUQDWLI�GDODP�SHQGLQJLQDQ�XGDUD��$LU�
GLJXQDNDQ� VHEDJDL� PHGLD� WUDQVIHU� SDQDV� GDUL� $+8� NH� DEVRUSWLRQ� UHIULJHUDWRU��
8QWXN� PHQJHWDKXL� SHUSLQGDKDQ� SDQDV� PDNVLPDO� ROHK� DLU� GLODNXNDQ� SHQJXMLDQ�
WHUKDGDS�GHELWQ\D��9DULDVL�GHELW�DLU������OLWHU�PLQ����OLWU�PLQ������OLWHU�PLQ�GDQ�����
OLWHU�PLQ��'DUL�KDVLO�SHQJXMLDQ�GDQ�SHQJRODKDQ�GDWD�GLGDSDWNDQ�QLODL�SHUSLQGDKDQ�
SDQDV�PDNVLPXP�WHUHQGDK�������-�V�SDGD�GHELW������OLWHU�PLQ�GDQ�WHUWLQJJL��������
-�V�SDGD�GHELW�����OLWHU�PLQ��-DGL�GHELW�DLU�EHUSHQJDUXK�WHUKDGDS�QLODL�SHUSLQGDKDQ�
SDQDV�PDNVLPXP�DLU�VHEDJDL�PHGLD�WUDVQIHU�

.DWD�NXQFL ��3HQGLQJLQ�XGDUD� ��+9$&��$+8��5HIULJHUDWRU ��FKLOOHU��$EVRUSWLRQ�
UHIULJHUDWRU�
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$LU�FRQGLWLRQLQJ�LV�D�GHYLFH�WKDW�VHUYHV�WR�FRQGLWLRQ�WKH�DLU��$LU�FRQGLWLRQLQJ�
DLPV� WR� JHW� WKH� RSWLPDO� WHPSHUDWXUH�� 6\VWHPV� WKDW� LQFOXGH� DLU� FRQGLWLRQLQJ� DUH�
FDOOHG� KHDWLQJ�� YHQWLODWLRQ�� DQG� DLU�FRQGLWLRQLQJ� �+9$&�� DQG� DLU� FRQGLWLRQLQJ�
GHYLFHV�DUH�FDOOHG�DLU�KDQGOLQJ�XQLWV �$+8���$&�DQG�FKLOOHU�DUH�DLU�FRQGLWLRQLQJ�
GHYLFHV�� ZKLFK� XVH� UHIULJHUDWLRQ� WHFKQLTXHV�� 5HIULJHUDWLRQ� LV� WKH� SURFHVV� RI�
GHFUHDVLQJ� URRP� WHPSHUDWXUH� RU� PDWHULDO� WR� UHPDLQ� EHORZ� WKH� DPELHQW�
WHPSHUDWXUH�� 5HIULJHUDWRUV� DOVR� XVH� UHIULJHUDWLRQ� WHFKQLTXHV�� $EVRUSWLRQ
UHIULJHUDWRU� LV� D� GHYHORSPHQW� RI� UHIULJHUDWLRQ� WHFKQLTXHV� WKDW� XVH� DEVRUSWLRQ�
UHIULJHUDWLRQ� WHFKQLTXHV� WR� SURGXFH� FROG�� $LU� FRQGLWLRQHUV� XVLQJ� DEVRUSWLRQ�
UHIULJHUDWRU�PDNH�DQ�DOWHUQDWLYH�LQ�DLU�FRROLQJ��:DWHU�LV�XVHG�DV�D�KHDW�WUDQVIHU�
PHGLXP�IURP�WKH�$+8�WR�DEVRUSWLRQ�UHIULJHUDWRU��7R�ILQG�RXW�WKH�PD[LPXP�KHDW�
WUDQVIHU� E\�ZDWHU�� D� UHVHDUFK DERXW� LWV� IORZ LV� QHHGHG��9DULDWLRQ� RI� ZDWHU� IORZ�
�����OLWHUV���PLQ����OLWU���PLQ������OLWHUV���PLQ�DQG�����OLWHUV���PLQ��)URP�WKH�UHVXOWV�
RI�WHVWLQJ�DQG�GDWD�SURFHVVLQJ�WKH�ORZHVW�PD[LPXP�KHDW�WUDQVIHU�YDOXH�ZDV�������
-���V�DW�WKH�IORZ RI������OLWHUV���PLQ�DQG�WKH�KLJKHVW��������-���V�DW�WKH�IORZ RI�����
OLWHUV���PLQ��6R�WKH�ZDWHU�IORZ DIIHFWV�WKH�PD[LPXP�KHDW�WUDQVIHU�YDOXH�RI�ZDWHU�DV�
D�WUDQVIHU�PHGLXP�

.H\ZRUG� �� $LU� FRQGLWLRQLQJ�� +9$&�� $+8�� 5HIULJHUDWRU �� FKLOOHU�� $EVRUSWLRQ
UHIULJHUDWRU�


